
9300B FRAME

ASPMTT
26/07/202326/07/202327/10/2020

1:10 ConfirmedVerifiedDrafted

Initials
Date

Scale:

Plan No.

E001166 C/

E001166 / C

Sheet 1/2

VERMEIREN

1

2

2

3

3

3
3

4

5

6 6

6

7
8

9

9

10

11

11

12

13

15

17

18

18

19

2021

22

25

26

26

26

26

26

27

28

29

30

31

32 33

34

35
36

36

37

38

39

40

41

42

42

43

44

46

48

49

50

52

54

20
54

16

16

14

14

SW 53
SW 50

SW 39

SW 43

SW 46

16

A

B

C

Detail A
Scale:  1:5

2

3

3

3

4

6

6

6
6

12

16

16

17

21

25

28

30

31

32

33

35

47

51

53

5

Detail B
Scale:  1:5

3
8

10

15

26

27
29

34

1

16

3 6

Detail C
Scale:  1:513

2
7

2238 45



9300B FRAME

ASPMTT
26/07/202326/07/202327/10/2020

1:10 ConfirmedVerifiedDrafted

Initials
Date

Scale:

Plan No.

E0011669300B FRAME C/

E001166 / C

Sheet 2/2

Material
No. Plan Article Quantity
1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
25
26
27
28
29
30
31
32
33
34
35
36
37

3.9X9.5
9x17x1.6 (DIN126)

M6 (DIN125A) 6,4x12x1,6
M12 (DIN127A)
X003293 25
M6 (DIN985)
X001016 M8 (DIN985)
M12 (DIN985)

4X35
X000582

3,9x16 (DIN7982)
M6x40
X000862 ( 22)
M6x12 (ISO7380)
M6x12 (DIN986)
M6x30
XP00404
YP01951
YP01978
X003801 ( 32x 25,2x9)
M8x14 (DIN986)
M6X25 (PVC 30)
M12x45 (DIN931)

22
M6x45 (ISO7380)
Plastic fork NL60
X002679
M8x76 (DIN7984)
M8
X005981
XP00095

4.8x22 (DIN7981)
M8X16
XP00468 (⌀25,6x⌀23,2x22,7)
XP00469

1001530
1001554
1001564
1001572
1001626
1001680
1001682
1001684
1003022
1005740
1005767
1006111
1006463
1007000
1008492
1009588
1889600
1890000
1890154
1900365
1902024
1903394
1990507
1990648
1991017
1991447
1994452
1998993
1998994
2079500
2990045
2990070
2990458
2990496
2990498

2
4
10
2
2
10
2
2
4
2
4
2
2
4
2
6
2
2
2
2
2
2
2
6
2
2
2
2
2
2
2
4
2
2
2

PlanNo.
Material

38
39

40

41

42
43

44
45
46
47
48

49

XP00470 ( 22x 8,1x3,5)
XP00480**
P00062475***
XP00481**
XP00482**
XP00483**
XP00484**
XP00485**
P00061080***
P00061081***
P00061083***
P00061332***
P00061333***
XP00486
XP00487
XP00488
XP00489
XP00490
XC00122 ( 12x123)
YP01999
YP01437
YP02000
YP02001
YP02002
YP01959
YP01946
YP01956
YP01955
YC00691
YC00694
YC00696
YC00692
YC00693
YC00695

2
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
2
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

Article Quantity
2990499
2990507
3901076
2990508 (39)
2990509 (43)
2990510 (46)
2990511 (50)
2990512 (53)
3901077 (39)
3901078 (43)
3901079 (46)
3901080 (50)
3901081 (53)
2990513 (39)
2990514 (43)
2990515 (46)
2990516 (50)
2990517 (53)
3990395
18902.. (39)
18630.. (43)
18903.. (46)
18904.. (50)
18905.. (53)
18888..
18889..
18893.. (L)
18892.. (R)
1C265.. (39)
1C269.. (43)
1C271.. (46/50/53)
1C266.. (39)
1C272.. (43)
1C270.. (46/50/53)

PlanNo.
Material
Article Quantity

50
51
52
53
*54

20793.. (L)
20794.. (R)
3990520 (L)
3990521 (R)
3990106

1
1
1
1
2

Y024025
Y024026
Support armrest
Support armrest
XC00037

* Only for removable 24" wheel
** Production method 1
*** Production method 2 VERMEIREN


